17.03.23 Year 2 Maths —This week at home, we would like you to
show your grown ups how you can dividel!

Divide by 2 €) Complete the number sentences for each array.
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@® x2=8
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o Complete the sentences. o®
8+2=
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There are 12 cherries. )

There are groups. L A X X KN X J
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®=2=16

There are cherries in each group.

12+2= 2 =12 eThere are 14 socks.
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There are 10 muffins.

There are muffins in each group. Ben puts them into pairs.
a) How many pairs of socks does
he haove?
There are groups.

b) Complete the number sentence.

10+2= =2 =10 + =
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Sam has 22 pencils.
She puts them into pots.
Each pot has 2 pencils.

How many pots does Sam need?

Complete the divisions.

22+2=
a) 6+2 = e) +2=5
Sam needs pots.
b) 10+2 = f) +2 =g
c) 14+2 = a) +2=9
d) 20+ 2 = h) + 2 =11




